

Summary of Bids Received

Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$1,309,337.77	-17.43%	-\$276,362.28
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$1,447,402.25	-8.72%	-\$138,297.80
Arrow Road Construction Compan	3401 South Busse Road	Mt. Prospect, IL 60056	Bid Bond	\$1,671,598.52	5.42%	\$85,898.47
Engineer's Estimate				\$1,585,700.05		
Design	IDOT(2)	Contract Bidder	F	PT then Plan Rack		
Finance	Bid Tab File	Resident Eng.		Administrative Assis	tant	_
Construction	Project File	Request By Mail		Mgr Capital Prograr	nming	



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Arrow Road Const	ruction Compan	J. A. Johnson Pa	ving Company	Peter Baker &	Son Company
	,	·			Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	30.0	CU YD	\$25.00	\$750.00	\$175.00	\$5,250.00	\$50.00	\$1,500.00	\$95.35	\$2,860.50
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	159.0	UNIT	\$250.00	\$39,750.00	\$590.00	\$93,810.00	\$300.00	\$47,700.00	\$330.00	\$52,470.00
3	20800150	TRENCH BACKFILL	20.0	CU YD	\$40.00	\$800.00	\$40.00	\$800.00	\$40.00	\$800.00	\$40.00	\$800.00
4	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	7,233.0	SQ YD	\$3.50	\$25,315.50	\$6.00	\$43,398.00	\$3.50	\$25,315.50	\$3.50	\$25,315.50
5	21400100	GRADING AND SHAPING DITCHES	316.0	FOOT	\$30.00	\$9,480.00	\$18.95	\$5,988.20	\$14.63	\$4,623.08	\$25.20	\$7,963.20
6	25000210	SEEDING, CLASS 2A	1.5	ACRE	\$6,000.00	\$9,000.00	\$2,420.00	\$3,630.00	\$4,840.00	\$7,260.00	\$4,840.00	\$7,260.00
7	25000400	NITROGEN FERTILIZER NUTRIENT	134.0	POUND	\$2.00	\$268.00	\$4.00	\$536.00	\$2.00	\$268.00	\$2.00	\$268.00
8	25000600	POTASSIUM FERTILIZER NUTRIENT	134.0	POUND	\$2.00	\$268.00	\$4.00	\$536.00	\$2.00	\$268.00	\$2.00	\$268.00
9	25100630	EROSION CONTROL BLANKET	7,233.0	SQ YD	\$3.00	\$21,699.00	\$1.25	\$9,041.25	\$1.50	\$10,849.50	\$1.50	\$10,849.50
10	28000305	TEMPORARY DITCH CHECKS	35.0	FOOT	\$20.00	\$700.00	\$30.00	\$1,050.00	\$15.00	\$525.00	\$15.00	\$525.00
11	35101400	AGGREGATE BASE COURSE, TYPE B	92.0	TON	\$40.00	\$3,680.00	\$15.00	\$1,380.00	\$15.00	\$1,380.00	\$11.00	\$1,012.00
12	40201000	AGGREGATE FOR TEMPORARY ACCESS	204.0	TON	\$35.00	\$7,140.00	\$15.00	\$3,060.00	\$15.00	\$3,060.00	\$5.00	\$1,020.00
13	40600100	BITUMINOUS MATERIALS (PRIME COAT)	11,669.0	GALLON	\$0.25	\$2,917.25	\$2.50	\$29,172.50	\$0.01	\$116.69	\$0.01	\$116.69
14	40600300	AGGREGATE (PRIME COAT)	233.0	TON	\$2.00	\$466.00	\$1.00	\$233.00	\$1.00	\$233.00	\$1.00	\$233.00
15	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$473.00	\$4,730.00	\$150.00	\$1,500.00	\$645.00	\$6,450.00
16	40600635	LEVELING BINDER (MACHINE METHOD), N70	515.0	TON	\$80.00	\$41,200.00	\$82.80	\$42,642.00	\$80.00	\$41,200.00	\$74.40	\$38,316.00
17	40600X77	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	1,339.0	TON	\$100.00	\$133,900.00	\$95.80	\$128,276.20	\$72.00	\$96,408.00	\$95.40	\$127,740.60
18	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	274.0	SQ YD	\$4.00	\$1,096.00	\$22.60	\$6,192.40	\$5.00	\$1,370.00	\$2.00	\$548.00
19	40600990	TEMPORARY RAMP	74.0	SQ YD	\$20.00	\$1,480.00	\$106.75	\$7,899.50	\$30.00	\$2,220.00	\$32.00	\$2,368.00
20	40603085	HOT-MIX ASPHALT BINDER COURSE, IL- 19.0, N70	3,452.0	TON	\$75.00	\$258,900.00	\$75.00	\$258,900.00	\$66.00	\$227,832.00	\$50.80	\$175,361.60
21	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	4,438.0	TON	\$80.00	\$355,040.00	\$74.75	\$331,740.50	\$70.00	\$310,660.00	\$72.75	\$322,864.50
22	42001300	PROTECTIVE COAT	269.0	SQ YD	\$5.00	\$1,345.00	\$2.00	\$538.00	\$2.00	\$538.00	\$1.00	\$269.00
23	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,311.0	SQ FT	\$6.00	\$7,866.00	\$5.60	\$7,341.60	\$5.60	\$7,341.60	\$5.75	\$7,538.25
24	42400800	DETECTABLE WARNINGS	256.0	SQ FT	\$22.00	\$5,632.00	\$30.00	\$7,680.00	\$30.00	\$7,680.00	\$30.00	\$7,680.00
25	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	31,885.0	SQ YD	\$3.00	\$95,655.00	\$2.95	\$94,060.75	\$2.13	\$67,915.05	\$2.40	\$76,524.00
26	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	12,035.0	SQ YD	\$3.00	\$36,105.00	\$3.40	\$40,919.00	\$3.41	\$41,039.35	\$3.65	\$43,927.75
27	44000200	DRIVEWAY PAVEMENT REMOVAL	786.0	SQ YD	\$10.00	\$7,860.00	\$21.60	\$16,977.60	\$12.00	\$9,432.00	\$10.00	\$7,860.00



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Estir	nate	Arrow Road Const	ruction Compan	J. A. Johnson Pa	ving Company	Peter Baker & S	Son Company
	,				Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
28	44000500	COMBINATION CURB AND GUTTER REMOVAL	416.0	FOOT	\$8.00	\$3,328.00	\$6.00	\$2,496.00	\$6.00	\$2,496.00	\$8.00	\$3,328.00
29	44004250	PAVED SHOULDER REMOVAL	3,333.0	SQ YD	\$5.00	\$16,665.00	\$9.25	\$30,830.25	\$6.80	\$22,664.40	\$7.10	\$23,664.30
30	44201681	CLASS D PATCHES, TYPE I, 3 INCH	67.0	SQ YD	\$50.00	\$3,350.00	\$190.00	\$12,730.00	\$50.00	\$3,350.00	\$30.00	\$2,010.00
31	44201761	CLASS D PATCHES, TYPE I, 10 INCH	202.0	SQ YD	\$60.00	\$12,120.00	\$143.00	\$28,886.00	\$50.00	\$10,100.00	\$30.00	\$6,060.00
32	44201765	CLASS D PATCHES, TYPE II, 10 INCH	304.0	SQ YD	\$60.00	\$18,240.00	\$133.00	\$40,432.00	\$50.00	\$15,200.00	\$30.00	\$9,120.00
33	44201769	CLASS D PATCHES, TYPE III, 10 INCH	911.0	SQ YD	\$60.00	\$54,660.00	\$90.00	\$81,990.00	\$50.00	\$45,550.00	\$30.00	\$27,330.00
34	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	607.0	SQ YD	\$60.00	\$36,420.00	\$82.00	\$49,774.00	\$50.00	\$30,350.00	\$30.00	\$18,210.00
35	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	12,639.0	SQ YD	\$3.00	\$37,917.00	\$1.30	\$16,430.70	\$1.30	\$16,430.70	\$1.36	\$17,189.04
36	48101200	AGGREGATE SHOULDERS, TYPE B	1,168.0	TON	\$35.00	\$40,880.00	\$13.55	\$15,826.40	\$38.34	\$44,781.12	\$35.00	\$40,880.00
37	50105220	PIPE CULVERT REMOVAL	222.0	FOOT	\$20.00	\$4,440.00	\$10.00	\$2,220.00	\$10.00	\$2,220.00	\$10.00	\$2,220.00
38	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	50.0	FOOT	\$50.00	\$2,500.00	\$38.00	\$1,900.00	\$38.00	\$1,900.00	\$38.00	\$1,900.00
39	550A0360	STORM SEWERS, CLASS A, TYPE 2 15"	35.0	FOOT	\$60.00	\$2,100.00	\$40.00	\$1,400.00	\$40.00	\$1,400.00	\$40.00	\$1,400.00
40	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	10.0	FOOT	\$70.00	\$700.00	\$42.00	\$420.00	\$42.00	\$420.00	\$42.00	\$420.00
41	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	150.0	FOOT	\$50.00	\$7,500.00	\$40.00	\$6,000.00	\$40.00	\$6,000.00	\$40.00	\$6,000.00
42	54213450	END SECTIONS 15"	10.0	EACH	\$200.00	\$2,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00
43	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	1.0	EACH	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
44	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
45	60236200	INLETS, TYPE A, TYPE 8 GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00
46	60250200	CATCH BASINS TO BE ADJUSTED	6.0	EACH	\$400.00	\$2,400.00	\$300.00	\$1,800.00	\$300.00	\$1,800.00	\$300.00	\$1,800.00
47	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$300.00	\$600.00	\$300.00	\$600.00	\$300.00	\$600.00
48	60257900	MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
49	60260100	INLETS TO BE ADJUSTED	4.0	EACH	\$400.00	\$1,600.00	\$300.00	\$1,200.00	\$300.00	\$1,200.00	\$300.00	\$1,200.00
50	60265700	VALVE VAULTS TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$300.00	\$600.00	\$300.00	\$600.00	\$300.00	\$600.00
51	60500060	REMOVING INLETS	1.0	EACH	\$400.00	\$400.00	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00
52	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	141.0	FOOT	\$50.00	\$7,050.00	\$21.00	\$2,961.00	\$21.00	\$2,961.00	\$27.00	\$3,807.00
53	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	275.0	FOOT	\$50.00	\$13,750.00	\$27.50	\$7,562.50	\$27.50	\$7,562.50	\$28.00	\$7,700.00
54	67100100	MOBILIZATION	1.0	L SUM	\$81,600.00	\$81,600.00	\$80,000.00	\$80,000.00	\$79,000.00	\$79,000.00	\$78,149.00	\$78,149.00
55	70300100	SHORT-TERM PAVEMENT MARKING	11,524.0	FOOT	\$0.10	\$1,152.40	\$1.25	\$14,405.00	\$0.25	\$2,881.00	\$0.50	\$5,762.00



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Estir	mate	Arrow Road Const	ruction Compan	J. A. Johnson Pa	ving Company	Peter Baker & S	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
56	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	601.0	SQ FT	\$1.00	\$601.00	\$0.01	\$6.01	\$0.01	\$6.01	\$0.01	\$6.01
57	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	23,944.0	FOOT	\$0.25	\$5,986.00	\$0.01	\$239.44	\$0.01	\$239.44	\$0.01	\$239.44
58	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	24,378.0	FOOT	\$0.25	\$6,094.50	\$0.01	\$243.78	\$0.01	\$243.78	\$0.01	\$243.78
59	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,358.0	FOOT	\$0.25	\$589.50	\$0.01	\$23.58	\$0.01	\$23.58	\$0.01	\$23.58
60	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,977.0	FOOT	\$0.50	\$988.50	\$0.01	\$19.77	\$0.01	\$19.77	\$0.01	\$19.77
61	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	92.0	FOOT	\$2.50	\$230.00	\$0.01	\$0.92	\$0.01	\$0.92	\$0.01	\$0.92
62	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	4,261.0	FOOT	\$1.00	\$4,261.00	\$1.02	\$4,346.22	\$1.00	\$4,261.00	\$1.00	\$4,261.00
63	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	1,420.0	SQ FT	\$1.00	\$1,420.00	\$5.40	\$7,668.00	\$1.00	\$1,420.00	\$6.55	\$9,301.00
64	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	601.0	SQ FT	\$5.00	\$3,005.00	\$3.50	\$2,103.50	\$3.50	\$2,103.50	\$4.00	\$2,404.00
65	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	9,741.0	FOOT	\$1.00	\$9,741.00	\$0.60	\$5,844.60	\$0.60	\$5,844.60	\$0.55	\$5,357.55
66	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	3,407.0	FOOT	\$1.00	\$3,407.00	\$0.75	\$2,555.25	\$0.75	\$2,555.25	\$0.65	\$2,214.55
67	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,348.0	FOOT	\$1.50	\$3,522.00	\$1.00	\$2,348.00	\$1.00	\$2,348.00	\$0.75	\$1,761.00
68	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,977.0	FOOT	\$3.50	\$6,919.50	\$2.00	\$3,954.00	\$2.00	\$3,954.00	\$1.50	\$2,965.50
69	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	92.0	FOOT	\$5.00	\$460.00	\$4.00	\$368.00	\$4.00	\$368.00	\$4.00	\$368.00
70	78001110	PAINT PAVEMENT MARKING - LINE 4"	14,203.0	FOOT	\$0.20	\$2,840.60	\$0.30	\$4,260.90	\$0.29	\$4,118.87	\$0.05	\$710.15
71	78001120	PAINT PAVEMENT MARKING - LINE 5"	20,971.0	FOOT	\$0.30	\$6,291.30	\$0.35	\$7,339.85	\$0.35	\$7,339.85	\$0.05	\$1,048.55
72	78001130	PAINT PAVEMENT MARKING - LINE 6"	10.0	FOOT	\$0.50	\$5.00	\$0.50	\$5.00	\$0.50	\$5.00	\$0.05	\$0.50
73	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	136.0	EACH	\$8.00	\$1,088.00	\$27.85	\$3,787.60	\$1.00	\$136.00	\$10.00	\$1,360.00
74	88600600	DETECTOR LOOP REPLACEMENT	159.0	FOOT	\$50.00	\$7,950.00	\$19.00	\$3,021.00	\$20.00	\$3,180.00	\$19.00	\$3,021.00
75	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$1,000.00	\$5,000.00	\$75.00	\$375.00	\$150.00	\$750.00	\$450.00	\$2,250.00
76	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	1,335.0	UNIT	\$1.00	\$1,335.00	\$1.00	\$1,335.00	\$1.00	\$1,335.00	\$1.00	\$1,335.00



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

Item No.	Pay Code	Description	Quantity	Unit	Eng Esti	mate	Arrow Road Const	ruction Compan	J. A. Johnson Pa	ving Company	Peter Baker &	Son Company
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
77	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	306.0	FOOT	\$15.00	\$4,590.00	\$18.50	\$5,661.00	\$10.00	\$3,060.00	\$21.25	\$6,502.50
78	LC600200	INSTALL SURVEY MONUMENTS	8.0	EACH	\$750.00	\$6,000.00	\$750.00	\$6,000.00	\$1,400.00	\$11,200.00	\$375.00	\$3,000.00
79	X2800500	INLET PROTECTION, SPECIAL	1.0	EACH	\$300.00	\$300.00	\$200.00	\$200.00	\$280.00	\$280.00	\$200.00	\$200.00
80	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	330.0	SQ YD	\$8.00	\$2,640.00	\$2.95	\$973.50	\$5.00	\$1,650.00	\$5.00	\$1,650.00
81	X6023500	INLETS, TYPE A, WITH SALVAGED FRAME AND GRATE	1.0	each	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
82	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SEPCIAL)	16.0	EACH	\$550.00	\$8,800.00	\$650.00	\$10,400.00	\$650.00	\$10,400.00	\$650.00	\$10,400.00
83	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2.0	CAL MO	\$3,000.00	\$6,000.00	\$6,300.00	\$12,600.00	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00
84	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$40,800.00	\$40,800.00	\$5,855.00	\$5,855.00	\$126,695.94	\$126,695.94	\$27,635.54	\$27,635.54
85	X7810300	RECESSED REFLECTIVE PAVMENT MARKER	135.0	EACH	\$30.00	\$4,050.00	\$29.35	\$3,962.25	\$29.35	\$3,962.25	\$35.00	\$4,725.00
86	XX000856	MAILBOX REMOVAL AND RELOCATION	17.0	EACH	\$250.00	\$4,250.00	\$245.00	\$4,165.00	\$150.00	\$2,550.00	\$225.00	\$3,825.00
87	XX206400	MAILBOX POST	17.0	EACH	\$150.00	\$2,550.00	\$220.00	\$3,740.00	\$200.00	\$3,400.00	\$150.00	\$2,550.00
88	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$5.00	\$250.00
		Bid Total				\$1,585,700.05		\$1,671,598.52		\$1,447,402.25		\$1,309,337.77



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	20200100	EARTH EXCAVATION	30.0	CU YD	\$25.00	\$750.00	\$50.00	\$175.00	\$106.78
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	159.0	UNIT	\$250.00	\$39,750.00	\$300.00	\$590.00	\$406.67
3	20800150	TRENCH BACKFILL	20.0	CU YD	\$40.00	\$800.00	\$40.00	\$40.00	\$40.00
4	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	7,233.0	SQ YD	\$3.50	\$25,315.50	\$3.50	\$6.00	\$4.33
5	21400100	GRADING AND SHAPING DITCHES	316.0	FOOT	\$30.00	\$9,480.00	\$14.63	\$25.20	\$19.59
6	25000210	SEEDING, CLASS 2A	1.5	ACRE	\$6,000.00	\$9,000.00	\$2,420.00	\$4,840.00	\$4,033.33
7	25000400	NITROGEN FERTILIZER NUTRIENT	134.0	POUND	\$2.00	\$268.00	\$2.00	\$4.00	\$2.67
8	25000600	POTASSIUM FERTILIZER NUTRIENT	134.0	POUND	\$2.00	\$268.00	\$2.00	\$4.00	\$2.67
9	25100630	EROSION CONTROL BLANKET	7,233.0	SQ YD	\$3.00	\$21,699.00	\$1.25	\$1.50	\$1.42
10	28000305	TEMPORARY DITCH CHECKS	35.0	FOOT	\$20.00	\$700.00	\$15.00	\$30.00	\$20.00
11	35101400	AGGREGATE BASE COURSE, TYPE B	92.0	TON	\$40.00	\$3,680.00	\$11.00	\$15.00	\$13.67
12	40201000	AGGREGATE FOR TEMPORARY ACCESS	204.0	TON	\$35.00	\$7,140.00	\$5.00	\$15.00	\$11.67
13	40600100	BITUMINOUS MATERIALS (PRIME COAT)	11,669.0	GALLON	\$0.25	\$2,917.25	\$0.01	\$2.50	\$0.84
14	40600300	AGGREGATE (PRIME COAT)	233.0	TON	\$2.00	\$466.00	\$1.00	\$1.00	\$1.00
15	40600535	LEVELING BINDER (HAND METHOD), N70	10.0	TON	\$200.00	\$2,000.00	\$150.00	\$645.00	\$422.67
16	40600635	LEVELING BINDER (MACHINE METHOD), N70	515.0	TON	\$80.00	\$41,200.00	\$74.40	\$82.80	\$79.07



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
17	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	1,339.0	TON	\$100.00	\$133,900.00	\$72.00	\$95.80	\$87.73
18	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	274.0	SQ YD	\$4.00	\$1,096.00	\$2.00	\$22.60	\$9.87
19	40600990	TEMPORARY RAMP	74.0	SQ YD	\$20.00	\$1,480.00	\$30.00	\$106.75	\$56.25
20	40603085	HOT-MIX ASPHALT BINDER COURSE, 19.0, N70	3,452.0	TON	\$75.00	\$258,900.00	\$50.80	\$75.00	\$63.93
21	40603340	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N70	4,438.0	TON	\$80.00	\$355,040.00	\$70.00	\$74.75	\$72.50
22	42001300	PROTECTIVE COAT	269.0	SQ YD	\$5.00	\$1,345.00	\$1.00	\$2.00	\$1.67
23	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	1,311.0	SQ FT	\$6.00	\$7,866.00	\$5.60	\$5.75	\$5.65
24	42400800	DETECTABLE WARNINGS	256.0	SQ FT	\$22.00	\$5,632.00	\$30.00	\$30.00	\$30.00
25	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	31,885.0	SQ YD	\$3.00	\$95,655.00	\$2.13	\$2.95	\$2.49
26	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	12,035.0	SQ YD	\$3.00	\$36,105.00	\$3.40	\$3.65	\$3.49
27	44000200	DRIVEWAY PAVEMENT REMOVAL	786.0	SQ YD	\$10.00	\$7,860.00	\$10.00	\$21.60	\$14.53
28	44000500	COMBINATION CURB AND GUTTER REMOVAL	416.0	FOOT	\$8.00	\$3,328.00	\$6.00	\$8.00	\$6.67
29	44004250	PAVED SHOULDER REMOVAL	3,333.0	SQ YD	\$5.00	\$16,665.00	\$6.80	\$9.25	\$7.72



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
30	44201681	CLASS D PATCHES, TYPE I, 3 INCH	67.0	SQ YD	\$50.00	\$3,350.00	\$30.00	\$190.00	\$90.00
31	44201761	CLASS D PATCHES, TYPE I, 10 INCH	202.0	SQ YD	\$60.00	\$12,120.00	\$30.00	\$143.00	\$74.33
32	44201765	CLASS D PATCHES, TYPE II, 10 INCH	304.0	SQ YD	\$60.00	\$18,240.00	\$30.00	\$133.00	\$71.00
33	44201769	CLASS D PATCHES, TYPE III, 10 INCH	911.0	SQ YD	\$60.00	\$54,660.00	\$30.00	\$90.00	\$56.67
34	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	607.0	SQ YD	\$60.00	\$36,420.00	\$30.00	\$82.00	\$54.00
35	44300100	AREA REFLECTIVE CRACK CONTROL TREATMENT	12,639.0	SQ YD	\$3.00	\$37,917.00	\$1.30	\$1.36	\$1.32
36	48101200	AGGREGATE SHOULDERS, TYPE B	1,168.0	TON	\$35.00	\$40,880.00	\$13.55	\$38.34	\$28.96
37	50105220	PIPE CULVERT REMOVAL	222.0	FOOT	\$20.00	\$4,440.00	\$10.00	\$10.00	\$10.00
38	550A0340	STORM SEWERS, CLASS A, TYPE 2 12"	50.0	FOOT	\$50.00	\$2,500.00	\$38.00	\$38.00	\$38.00
39	550A0360	STORM SEWERS, CLASS A, TYPE 2 15"	35.0	FOOT	\$60.00	\$2,100.00	\$40.00	\$40.00	\$40.00
40	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	10.0	FOOT	\$70.00	\$700.00	\$42.00	\$42.00	\$42.00
41	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	150.0	FOOT	\$50.00	\$7,500.00	\$40.00	\$40.00	\$40.00
42	54213450	END SECTIONS 15"	10.0	EACH	\$200.00	\$2,000.00	\$1,000.00	\$1,000.00	\$1,000.00
43	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	1.0	EACH	\$800.00	\$800.00	\$1,000.00	\$1,000.00	\$1,000.00
44	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$3,000.00
45	60236200	INLETS, TYPE A, TYPE 8 GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$900.00
46	60250200	CATCH BASINS TO BE ADJUSTED	6.0	EACH	\$400.00	\$2,400.00	\$300.00	\$300.00	\$300.00
47	60255500	MANHOLES TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$300.00	\$300.00	\$300.00



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
48	60257900	MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
49	60260100	INLETS TO BE ADJUSTED	4.0	EACH	\$400.00	\$1,600.00	\$300.00	\$300.00	\$300.00
50	60265700	VALVE VAULTS TO BE ADJUSTED	2.0	EACH	\$400.00	\$800.00	\$300.00	\$300.00	\$300.00
51	60500060	REMOVING INLETS	1.0	EACH	\$400.00	\$400.00	\$50.00	\$50.00	\$50.00
52	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	141.0	FOOT	\$50.00	\$7,050.00	\$21.00	\$27.00	\$23.00
53	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	275.0	FOOT	\$50.00	\$13,750.00	\$27.50	\$28.00	\$27.67
54	67100100	MOBILIZATION	1.0	L SUM	\$81,600.00	\$81,600.00	\$78,149.00	\$80,000.00	\$79,049.67
55	70300100	SHORT-TERM PAVEMENT MARKING	11,524.0	FOOT	\$0.10	\$1,152.40	\$0.25	\$1.25	\$0.67
56	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	601.0	SQ FT	\$1.00	\$601.00	\$0.01	\$0.01	\$0.01
57	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	23,944.0	FOOT	\$0.25	\$5,986.00	\$0.01	\$0.01	\$0.01
58	70300230	TEMPORARY PAVEMENT MARKING - LINE 5"	24,378.0	FOOT	\$0.25	\$6,094.50	\$0.01	\$0.01	\$0.01
59	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	2,358.0	FOOT	\$0.25	\$589.50	\$0.01	\$0.01	\$0.01



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
60	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,977.0	FOOT	\$0.50	\$988.50	\$0.01	\$0.01	\$0.01
61	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	92.0	FOOT	\$2.50	\$230.00	\$0.01	\$0.01	\$0.01
62	70300520	PAVEMENT MARKING TAPE, TYPE III 4"	4,261.0	FOOT	\$1.00	\$4,261.00	\$1.00	\$1.02	\$1.01
63	70301000	WORK ZONE PAVEMENT MARKING REMOVAL	1,420.0	SQ FT	\$1.00	\$1,420.00	\$1.00	\$6.55	\$4.32
64	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	601.0	SQ FT	\$5.00	\$3,005.00	\$3.50	\$4.00	\$3.67
65	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	9,741.0	FOOT	\$1.00	\$9,741.00	\$0.55	\$0.60	\$0.58
66	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	3,407.0	FOOT	\$1.00	\$3,407.00	\$0.65	\$0.75	\$0.72
67	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	2,348.0	FOOT	\$1.50	\$3,522.00	\$0.75	\$1.00	\$0.92
68	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,977.0	FOOT	\$3.50	\$6,919.50	\$1.50	\$2.00	\$1.83
69	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	92.0	FOOT	\$5.00	\$460.00	\$4.00	\$4.00	\$4.00
70	78001110	PAINT PAVEMENT MARKING - LINE 4"	14,203.0	FOOT	\$0.20	\$2,840.60	\$0.05	\$0.30	\$0.21
71	78001120	PAINT PAVEMENT MARKING - LINE 5"	20,971.0	FOOT	\$0.30	\$6,291.30	\$0.05	\$0.35	\$0.25



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
72	78001130	PAINT PAVEMENT MARKING - LINE 6"	10.0	FOOT	\$0.50	\$5.00	\$0.05	\$0.50	\$0.35
73	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	136.0	EACH	\$8.00	\$1,088.00	\$1.00	\$27.85	\$12.95
74	88600600	DETECTOR LOOP REPLACEMENT	159.0	FOOT	\$50.00	\$7,950.00	\$19.00	\$20.00	\$19.33
75	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$1,000.00	\$5,000.00	\$75.00	\$450.00	\$225.00
76	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	1,335.0	UNIT	\$1.00	\$1,335.00	\$1.00	\$1.00	\$1.00
77	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	306.0	FOOT	\$15.00	\$4,590.00	\$10.00	\$21.25	\$16.58
78	LC600200	INSTALL SURVEY MONUMENTS	8.0	EACH	\$750.00	\$6,000.00	\$375.00	\$1,400.00	\$841.67
79	X2800500	INLET PROTECTION, SPECIAL	1.0	EACH	\$300.00	\$300.00	\$200.00	\$280.00	\$226.67
80	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	330.0	SQ YD	\$8.00	\$2,640.00	\$2.95	\$5.00	\$4.32
81	X6023500	INLETS, TYPE A, WITH SALVAGED FRAME AND GRATE	1.0	each	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
82	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SEPCIAL)	16.0	EACH	\$550.00	\$8,800.00	\$650.00	\$650.00	\$650.00
83	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	2.0	CAL MO	\$3,000.00	\$6,000.00	\$2,500.00	\$6,300.00	\$3,933.33
84	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$40,800.00	\$40,800.00	\$5,855.00	\$126,695.94	\$53,395.49



Project: Riverwoods Road Resurfacing

Section: 13-00136-09-RS

Description: Mill, Patch and Resurface

					Eng Es	timate			
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
85	X7810300	RECESSED REFLECTIVE PAVMENT MARKER	135.0	EACH	\$30.00	\$4,050.00	\$29.35	\$35.00	\$31.23
86	XX000856	MAILBOX REMOVAL AND RELOCATION	17.0	EACH	\$250.00	\$4,250.00	\$150.00	\$245.00	\$206.67
87	XX206400	MAILBOX POST	17.0	EACH	\$150.00	\$2,550.00	\$150.00	\$220.00	\$190.00
88	Z0019600	DUST CONTROL WATERING	50.0	UNIT	\$100.00	\$5,000.00	\$5.00	\$100.00	\$51.67
		Bid Total				\$1,585,700.05			